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fA MBSOIEH

MM USATIME XX (2HUBR/BD)
o9 UEY DRME 22AY S CRRE]
SN HB G (BH) - MRAY - BES 0l & e Hlm= 2
otsdtotel g3 x4y 4,570,000 1,137,500 3,432,500
s 3,515,000
= 1,055,000

403 XXM EX20IH 4,570,000 1,137,500 3,432,500
=) 3,515,000
= 1,055,000

01 AXSHMR=2LE X 4,570,000 1,137,500 3,432,500
Jototel Qg maxy 4,570,000
s 3,515,000
== 1,055,000

s ZsHAMEUERAI LS 195,000 260,000 A 65,000
s 150,000
= 45,000

403 NXISHHSKH201H 195,000 260,000 265,000
s 150,000
= 45,000

01 XXX A2EX 195,000 260,000 A 65,000
ORZ=ANEUENI RS 195,000
ray 150,000
< 45,000

OESHSTHENSII LY LI ANE 520,000 650,000 A 130,000
s 400,000
= 120,000

403 XXM SX20IA 520,000 650,000 A 130,000
s 400,000
= 120,000

01 XXX A2EE 520,000 650,000 A 130,000
OMEHSIATY 520,000
s 400,000
< 120,000

AOIMAYE=ZALH 390,000 780,000 A390,000
s 300,000
& 90,000

403 KX SAH201M 390,000 780,000 A390,000
s 300,000




SH: MBS
HE: USYTR2ME

Sol: 23 DeNE RN 2 (258 8)
SN EE - ER(EN) - NRAY - BaS 01 &t o8 e HlRE2

403 XXM SX20IH S 90,000

01 XXIEHX2EX 390,000 780,000 390,000
OMAdYE=ZJALH 390,000
7 300,000
= 90,000

U022 8gExd 1,053,000 0 1,053,000
s 810,000
& 243,000

403 TXEMSAH201H 1,053,000 0 1,053,000
s 810,000
= 243,000

01 XXIEHX2EX 1,053,000 0 1,053,000
O2sEL224 1,053,000
s 810,000
< 243,000

Sa=NEHE S22 875,000 0 875,000
s 515,000
& 360,000

403 TXIEMSAH201H 875,000 0 875,000
s 515,000
= 360,000

01 XXIESHX2EX 875,000 0 875,000
O&F=EAHs 22X d 875,000
s 515,000
= 360,000

EIZTMHAEZ=Z]EL 1,053,000 1,755,000 A702,000
s 810,000
& 243,000

403 TXIEMSA201H 1,053,000 1,755,000 A702,000
s 810,000
= 243,000

01 XXIESHH2EX 1,053,000 1,755,000 A702,000
OIS LM SR A 1,053,000
s 810,000
< 243,000




fA MBSOIEH

MM USATIME XX (2HUBR/BD)
o9 UEY DRME 22AY S CRRE]
SA-EH O (BH) - HBAY - B2 Ofl A o4 gggf; HRS2
R EHOIEYZXY 1,053,000 3,185,000 N2,132,000
rag 810,000
= 243,000

403 XXESHHSA=0IM 1,053,000 3,185,000 N2,132,000
g 810,000
== 243,000

01 AXESHA=ESE=X 1,053,000 3,185,000 A2,132,000
O &IOS ZES 1,053,000
g 810,000
== 243,000

O XZEIANFINLS22HE 2,550,000 0 2,550,000
rag 1,500,000
= 1,050,000

403 XXESHHSA=20IM 2,550,000 0 2,550,000
rag 1,500,000
== 1,050,000

01 XAXESXMA2SEEX 2,550,000 0 2,550,000
OXS2AEI LS 2AHE 2,550,000
g 1,500,000
= 1,050,000

HEBF=222ZHOIETY 195,000 260,000 A65,000
g 150,000
& 45,000

403 XXM SKE0lH 195,000 260,000 A 65,000
g 150,000
= 45,000

01 XAXESMASEE 195,000 260,000 A65,000
OXF=2t22H0ET Y 195,000
g 150,000
= 45,000

AasasdAxy 1,066,000 0 1,066,000
g 820,000
& 246,000

403 XXISHHSA20|H 1,066,000 0 1,066,000
g 820,000
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I AY2IZHI (MBS S)(OIEHIIE
=Pl =3l (Cte: AR

SA-EFH - SA(SAH) - MREAY - BES Off &F K ggi BlusZ
201 LErEgH| 53,400 53,000 400
01 AtR2teld 47,400 47,000 400

Oget=ZH| 34,400
OJIZNEES Y 9,400
OLERUSHNHLAZHEEFEY 25,000
L=l 13,000
OMI=JEHdRFas4HI 13,000
02 =329 6,000 6,000 0
OAMRI1DIs X228l 6,000
202 OdH 19,600 21,200 21,600
01 2UWobl 19,600 21,200 1,600
OME=JI&F=804d] 19,600




